UPOS

U+ U-
® ol o
J2 N ®
1
__fAGC POWER UP 82
D5 DISABLE ;3
NI 4
ING148 I::I R48 85 AGND
150k o6 PLR
R50 7
UREF + Oiﬁ
| | 12 8
I_|33@k O VINY AGND
13| NSL25-86G UIN-
UREF = 6.9U UeD N8 AGND
= © c29 1 LM324D GALUO_HI
T~ R49
18u/35 330k GALUO_LO
R42 R43 J1
UREF -
—— o 5]
3kS 11k 8]l ]2 _
USC AGND POS+ ul, {3 POs
AGND | M324D AGCIN 12l¢ 3=
il {5
1@\8 IN4148 27 prsesLE FE1 DR IS
g 1 ? ? | - ? Q{ }l el AGND
/ o1 M ] = PQS
UPOS USB c27 c28 DB15F H
LM324D 270n s 1e6p
s 51¢ ,
UREF + P
- 1N4148 c38 aclo
3k9 shor ted R56 +15U_A
R58
1k AGND
-15U_A
OUERPOSITION - a2
SHUTDOWN ackD BC847
R57 —— 33
108k 470,25
UREF +
D6
U+ +15U_A +15U_A =
R52B 1N4148
R52A
V15 3k3 1k ﬂﬂ__{ R55
N _ 1o e E 1u,35 4R7
R39 \
C34l c21 _L GND . c25 AGCIN RS1 ,
10u,35 ~ 555 35 [ ) a1
109n T . 10k 5 [ T
AGND uéh -
l ca LM324D
Cc35 - AGND
¥ oon LelA - 23 - c26 470p e AGC
AGND T aND 2u2,35
‘ . 2 Ul uo 3 R4Q 108n oo ﬂéﬁD €32 —
U5 47 AGC AGC 10u,35
L7915
©
U- -15U_A
-15U_A
AGND
AGC
U+
oe POSITION DISABLE Beas7
18k GAIN 15 N o 1
153
1 i I 93, X —IP2 prussco0 REG K1
! 1 = -
R16 220p o |05 >
N 2 D8
i y dUposLdt - o =9 4k 7 o) 7 Y T
— =z ~N
Cls R18 128k c43 o 2
S
POS+ B 022 I — h . R14 o 1o i
T 2n2 1k o — I oo
£~ usc 10k .
10k - 188p
TL®74CD o
9 AGND c7 B E
AGND 8 1m/35 D\ D\
R25 10 Usum =N > >
n usC — ¢ & = 3 3
3 o N x 1O T a T T
a TLB74CD C13 S 1o ) T z
Bkl C18 R23 = I - ~ = 2 Ce oo
| 100k 22|@| TLB74CD — a4 55 g =
P T O
bos. ol R27 220p R11 . '\m 109N F1 z
y . 2 1.6A
s Ay ] >
'—D—‘ 120k Y § \4 — 0 C o
10k % 1 + / 1 ‘1
U3B J - © c5
TL®74CD ® =N RS
dUposH-dt 187 o =X
AGND uzB 100 T o
POS o n
TL®74CD > cs
AGND ST & . 1o
+15U_A 15U_A AGND " ° 6—95 X == 220n
- -18U R1O = i ca
not used T < Im/35
-Upos + B Uin ! AGND ®
O U+ Lvd
AGND
R44 L ¢33 PUR
R4g —L 11— not used [I:IS
10k 10k c42 L |:| R15 [ |Ré3 ot Leed
s ! 2n2 56k L1 56k o
P&
18k 1k
POSITION u2c ackD
R62 TLB74CD R7
OFFSET 12k X U6 B 47R
c37 C36 Rél t TL®74CD -
0 s not used “_|1ok g
hod HFD a
AGND AGND R17 = AGND
v L_| ! PUR
AGND 1@k S
feed foruard R19 -
— 13> > +15U_A +15U_A +15U_A
— 14 [
AGND AGND 18k 12 >
+ [N,
u2p @ 5
R35 R52 n2p -2 4D 2 |7 Re? " "
—L 1 56k 56k N 47 c40 47 c3 47 c1
awn
R&9 . <+ <+ <+
D 109n 17 109n 17
14 AGND SERUO AGND AGND AGND
ot U7D ok AeND GATN
1 16k 3y | -274C0 Uz 4 ca 4 ca 4 2
O VIN+ C TL®74CD vin = = =
837 [ :I—l—“ o N2 }j? }j? }j?
10k 0% A
Qo R&S 100n R6& 100n R4 100n
PINHD-1X3 AGND R36 C20 R38 -7 INPUT AGND AGND AGND
18k 220p 18k SCALE 47 47 47
Uerr = Uin - Upos
AGND
Usum = Uerr - dUposL,dt - dUposH/dt
AGND AGND AGND AGND -15U_A -15U_A -15U_A




